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&VLN. 1

(G Stg.AH: G)
sul pont

1'20''

R.H - Very small bowedtremolo: with tip of bow

1'30''
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1'40''
LH - ON/OFF art. harmonic
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1'55''
Single15'' bow
stroke

Frog of bow
G Stg.

,
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&VLN. 2

(SoundingE)

gliss. Singlebow stroke

(SoundingG)

gliss.

LH - ON/OFF natural harmonic A. Harmonic on G Stg.
(E)

Frog of bow
,G. Stg.

BVLA. light smooth,slow,circular bowing: continuouscircles

1/2col legno

Very lightly - artifial harmonicson C Stg.-
find pacing- continuousbowing

ord.
(E)

(A Stg.)
(F#)

(A) (D#)
glis

s.
Frog of bow

,C Stg.gliss.

?
VC.

Very lightly - artifial harmonicson C Stg.-
find pacing- continuousbowing

(E) (A)

gliss.

(C)

gliss.

slowly moving towards bridge

C Stg.

gliss. On Bridge-
noiseonly

ord.

Frog of bow

,
A. Stg.

&VLN. 1

very tip
of bow

2'00'' 2'10''
PizzArt.Harm.

Frog of bow.............................tip

2'20''
G Stg.

,Frog of bow..............................tip

Begin to moveslowly
towards Bridge Exactly

on Bridge

2'30''

,

&VLN. 2

very tip
of bow

let string ring

let string ring

PizzHarm.
E Stg. G. Stg.

Frog of bow.......................tipo
,

Frog of bow.............................tip

Beginto moveslowly
towards Bridge

Exactly
on Bridge

,

BVLA.

very tip
of bow

let string ring

(C Stg.G Harm.)
PizzHarm.

C Stg.
Frog of bow.......................tip

,
Frog of bow.................................tip

Beginto moveslowly
towards Bridge

,
Exactly
on Bridge

?VC.
very tip
of bow

let string ring

PizzHarm.
(A Stg.) A. Stg.

Frog of bow.......................tipo ,

Beginto moveslowly
towards Bridge

Frog of bow.................................tip

Exactly
on Bridge
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